
  

APRIL 2021  72001/SAM1A/TAB1A 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer any TEN questions. 

1. If  ,,  the roots of 03 23  dcxxax , then what 
is the value of  ,, ? 

 03 23  dcxxax &ß ‰»[PÒ  ,, GÛÀ 

 ,, Âß ©v¨¦ GßÚ? 

2. If  i  is a root of an equation, then what is the 
other root? 

  i  Gß£x J¸ \©ß£õmiß J¸ ‰»® GÛÀ 

©ØöÓõ¸ ‰»® Gx? 

3. If 15  in a root of an equation what the other 
root of it? 

 15 Gß£x J¸ \©ß£õmiß J¸ ‰»® GÛÀ 

©ØöÓõ¸ ‰»® Gx? 

4. If  ,,  are the roots of 023  rqxpxx  find the 

value of  2 . 

 023  rqxpxx GßÓ \©ß£õmiß ‰»[PÒ 

 ,, GÛÀ  2 Âß ©v¨ø£U PnUQkP. 

(6 pages) 



 72001/SAM1A/TAB1A 2

5. Define a reciprocal equation. 

 J¸ uø»RÌ \©ß£õmiøÚ Áøμ¯Ö. 

6. Write down the value of  21 x . 

  21 x &ß ©v¨ø£ GÊxP. 

7. Prove that 
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8. Write down the value of log 
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&ß ©v¨ø£ GÊxP. 

9. If  sincos iei   then what is the value of cos ? 

  sincos iei  GÛÀ cos &Âß ©v¨¦ GßÚ? 

10. Define hsin . 

 hsin & I Áøμ¯Ö. 
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11. Write down the value of xh 1sin  . 

 xh 1sin 
&ß ©v¨ø£ GÊxP. 

12. Expand  yxsin . 

  yxsin &I Â›ÁõUS. 

PART B — (5  5 = 25 marks) 

Answer any FIVE questions. 

13. Solve the equation 0283912 23  xxx  if the 

roots are in A.P.  

 0283912 23  xxx GßÓ \©ß£õmiß ‰»[PÒ 

A.P °À EÒÍöuÛÀ Aa\©ß£õmøhz wºUP.  

14. Solve the equation 01834 23  xxx  if two of its 

roots are equal. 

 01834 23  xxx GßÓ \©ß£õmiß C¸ ‰»[PÒ 

\©® GÛÀ Aa\©ß£õmiøÚz wºUP. 

15. Solve 03584 24  xxx  if 32 i  is a root. 

 32 i  Gß£x 03584 24  xxx  GßÓ \©ß£õmiß 

J¸ ‰»® GÛÀ Aa\©ß£õmøh wºUP. 
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16. If  ,,,  are the roots of the equation 

0234  srxqxpxx , find the value of  2 . 

 0234  srxqxpxx &Âß ‰»[PÒ  ,,, GÛÀ 

 2 Âß ©v¨ø£ PnUQkP. 

17. Sum to   the series 

  
18.12.6
8.5.2

12.6
5.2

6
2

1 . 

 GßÓ öuõh›ß   Áøμ°»õÚ Tkuø» PõsP 

  
18.12.6
8.5.2

12.6
5.2

6
2

1  

18. Sum to   the series 

  
!4

4
!3

3
!2

2
1

444

. 

 GßÓ öuõh›ß   Áøμ°»õÚ Tkuø» PõsP 

  
!4

4
!3

3
!2

2
1

444

. 

19. Expand 6cos  in terms of sin   

 6cos  Âß  sin Âß EÖ¨¦PÍõP Â›ÁõUP® 

ö\´P. 

[P.T.O.]
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PART C — (3  10 = 30 marks) 

Answer any THREE questions. 

20. Solve 04022212 234  xxxx  given that the 
roots are in AP.  

 04022212 234  xxxx &ß ‰»[PÒ AP °À 

EÒÍöuÛÀ Aa\©ß£õmøh wºUP.  

21. Solve the reciprocal equation 
042033204 234  xxxx . 

 042033204 234  xxxx  GßÓ uø»RÌ 

\©ß£õmøh wºUP. 

22. Sum to   the series 

  
120.96.72
49.28.7

96.72
28.7

72
7

. 

 
120.96.72
49.28.7

96.72
28.7

72
7

GßÓ öuõh›ß   

Áøμ°»õÚ Tkuø»U PnUQkP. 

23. Prove that  

 1cos24cos80cos64
sin

7sin 246  



 

 1cos24cos80cos64
sin

7sin 246  



GÚ {ÖÄP.  
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24. Prove that 

  352cos564cos28cos88cos
128

1
cos8    

  352cos564cos28cos88cos
128

1
cos8    

GÚ {ÖÄP  

———————  


